QUESTIONS

1/ Answer the following questions according to the text : (6pts)
a- How many paragraphs are there in the text ? /
o ihesen..... @{‘fz....,.#g.u.(.’..(;0.[.{..;.....eéwmtﬁio@%s (n the te < . /\ W
b- What does investment involve ?
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c- What is the purpose of investment ?
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d- What does investment mean ? A\ \ \
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2/ Find in the text words closest in meaning to the following :  (4pts)
a) profits =BQ~««¥¢Q . 6,‘ b) stocks=.. m‘\wﬂwﬁ - CL;
¢) firm = (MM@ ’ é d) necessary = MM&?QWWE& : C(:‘]

3/ Translate the following terms into English : (6pts)
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4/ Translate the last paragraph into Arabic.  (4pts)
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Second Term English Exam

Investment is time, energy, or matter spent in the hope of future benefits.
Investment has different meanings in economics and finance.

In economics, investment is the accumulation of newly produced physical entities, such
as factories, machinery, houses, and goods inventories.

In finance, investment is putting money into an asset with the expectation of capital
appreciation, dividends, and interest earnings.

Most or all forms of investment involve some form of risk, such as investment
In equities, property, and even fixed interest securities which are subject, among other
things, to inflation risk. It is indispensable for project investors to identify and manage
the risks related to the investment.

Investment analysis, defined as the process of evaluating an investment for
profitability and risk, ultimately has the purpose of measuring how the given investment
is a good fit for a portfolio. Investment analysis can range from a single bond in a
personal portfolio, to the investment of a startup business, and even large scale corporate
projects.

Investment analysis means the process of Judging an investment for income,
risk, and resale value. It is important to anyone who is considering an investment,
regardless of type. Investment analysis methods generally evaluate 3 factors: risk, cash
flows, and resale value.
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UNIVERSITY OF BATNA
DEPARTEMENT OF ECONOMY
FIRST YEAR MASTER MOINF1 G1

LECTURER/M.YOUSFI KENZA

CORRECTION OF THE EXAM

SECTION ONE: READING COMPREHENSION.

4

( 1. There are three paragraphs in the passage

A2

\

True or false :
a) False b) false c) true d) true
The idea is mentioned in §2

L

A&Discourse cohesion
a) Coal b) children c) twentieth-man.
7 5. Comprehension
a) The sources of energy mentioned in the text are:coal,gas,oil, nuclear and solar
energy.
b) Solar energy is used to built glass houses and to distil sea water
c) The population has increased thanks to medical progress. The invention of new
remedies such as penicillin and aureomycine has saved many patients from
death.
(A/B./ Synonyms
*1=4 *2=3 *3=1 *4=2

Section two : mastery of language :

W»Punctuation

Human inventiveness faces two main challenges .One is to promote the economic
development of poor countries .The other challenge is to deal with harmful
consequences of existing inventions.

{i&z./The odd word:

a) Industry b) tenderness

V Opposites ’
*1=3 *2=4 * 3=1 *4=2

f'/f 4.Sc<rambled sentences

There are two basic approaches to prolonging life. One is the elimination of diseases such as
heart diseases and brain attacks; the other is the slowing down of the process of growing
old.
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